
Inequality calculations – Example 

 

We will use the following income distribution: 

ሺݕଵ, ,ଶݕ ;ଷሻݕ 	ሺ݊ଵ, ݊ଶ, ݊ଷሻ 

(5, 10, 40); (6, 3, 1) 

 

The first set of numbers represents the various incomes, whereas the second set represents the 

number of people earning each of these incomes. 

Hence, ݕଵ ൌ ଶݕ						5 ൌ ଷݕ							10 ൌ 40						݊ଵ ൌ 6							݊ଶ ൌ 3						݊ଷ ൌ 1		 

 

݊ ൌ ݊ଵ ൅ ݊ଶ ൅ ݊ଷ ൌ 6 ൅ 3 ൅ 1 ൌ 10 

 

Mean income:  
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The range: 
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The mean absolute deviation: 

ܯ ൌ
1
݊ߤ

෍ ௝݊

௠

௝ୀଵ

หݕ௝ െ  หߤ

ܯ ൌ
1

10 ∗ 10
ሺ6 ∗ |5 െ 10| ൅ 3 ∗ |10 െ 10| ൅ 1 ∗ |40 െ 10|ሻ ൌ

60
100

ൌ 0.6 

 



 

The coefficient of variation: 
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The Gini coefficient: 
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2 ∗ 10 ∗ 10ଶ
ቐ

ሺ6 ∗ 6ሻ|5 െ 5| ൅ ሺ6 ∗ 3ሻ|5 െ 10| ൅ ሺ6 ∗ 1ሻ|5 െ 40| ൅
ሺ3 ∗ 6ሻ|10 െ 5| ൅ ሺ3 ∗ 3ሻ|10 െ 10| ൅ ሺ3 ∗ 1ሻ|10 െ 40| ൅
ሺ1 ∗ 6ሻ|40 െ 5| ൅ ሺ1 ∗ 3ሻ|40 െ 10| ൅ ሺ1 ∗ 1ሻ|40 െ 40|

ቑ 
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